ezMakeTimeTable

Class B_Team3

200711429_%+ 4
200711439_% ¢!
200711444_%F



Presentation Contents

* 1. System Overview

* 2, System characteristic

* 3. Requirements Implementation
* 4. Class Diagram

* 5.Demo



1. System Overview



rview

1. System Ove

1. Motivation

ol
K
7
Kl

KF

10

—

<

M
<+
ol

OF-

T0
ujJ

—_—

fod

L Al AR O] 7hs
Ap210f k= Al

ZEA

AL
°© T o

o
Hr

o3

<
ol
Kl

mjn
IH

—

N

2. System Function
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2. System characteristic
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2. System characteristic

1. Functional characteristic
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2. Non Functional characteristic
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3. Requirements Implementation
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4. Class Diagram



4. Class Diagram

CezMakeTimeTableDlg

CezMakeTimeTableDlg

-m_subject: Subject™®
-m_group: Group™®
-m_data: Data
-m_nIdx: int
-m_nGroupidx: int
-m_nGrouplLen: int
-m_nGroupMum: int

+saveDB()

+oadDB()

+addGroup()

+deleteGroup(index: int)
+addSubject(index: int, sub: Subject)
+deleteSubject{grpIndex: int, subIndex: int)
+GetTreelndex(tree: HTREEITEM): int
+newsList{gIndex: int)

———— e ——

e,

4__:'._..:".. a — A'.
' CezMakeTimeTa... 2

- Class

- < CDialog

i
MUE!
[y

IDD_EZMAKETL.|
m_ctrl_SublList |:
m_ctrl_UserList

m_data
m_group

m_hIcon

m_nGroupidx
m_nGroupLen
m_nGroupNum
m_nIdx
m_subject

e ssssfrsfens

m_TreeImageList

]
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4. Class Diagram

Result

Result

-m_data: Data
-m_save: Save
-m_Time: int*
-result: int**
-temp_result: int*
-m_resultLen: int
-m_selectedItem: int

+setData(data: Data&): BOOL
+recurResult{n: int)
+setTimeTable(i: int, j: int): BOOL
+uriteListCal()
+writeTable(index: int)
+saveTxt(data: Data&)

+savelpa()

" Result @

Class

- CDialog

classResult
IDD_RESULT_DI}..
m_ctrl_Callist

TRERYe_

%

i

g

m_data
m_resultLen
m_save
m_selecteditem
m_Time

temp_result

S L=

v

2 Result

DoDatakxchan |
GetMessageM
GetRuntimeCla
GetThisMessag]|..
OnBnClickedBt}.
OnBnClickedst].
OnB8nClickedBt
OnInitDlalog
OnLbnSelchan
OnPaint
PreTranslateM,

OO CCCCCec oo o ('“‘o(/ < ‘l‘('

recurResult
Result
savelpg
saveTxt
setData
setTimeTable
writetistCal
writeTable
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